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[1540+20+8]
- Initiate [ICMP with ]Jpacket-size 1541B , total packet becomes 1569, you see the drops , and

drops are be as Giants counters
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N5K- 1# ping 10.1.1.2 count 10

PING 10.1.1.2 (10.1.1.2): 56 data bytes

64 bytes from10.1.1.2: icnp_seq=0 ttl=254 tine=3.228 ns
64 bytes from10.1.1.2: icnp_seq=1 ttl=254 tine=4.832 ns

5 A #-3 K /P5000811TPing

A EBaA/N5000 ( EHEEETHS50 ) ENSK1E Nexus-Sw2&Bping , A EHKIL 2K ER

N5K- 1# ping 10. 1. 1.2 packet-size 5000 count 50
PING 10.1.1.2 (10.1.1.2): 5000 data bytes
Request 0 tinmed out

Request 1 tinmed out

ENexus-swI A OBRBRRAERNERS

Nexus- Swl# sh interface ethernet 3/3 | i MU junbo

MIU 9216 bytes, BW 10000000 Kbit, DLY 10 usec

50 junbo packets O storm suppression packets >>>>>>> exact 50 junmbo packets are seeing in the
RX counter.

ENexus-swiHOR#WIRAERER AT



Nexus- Swl# sh interface ethernet 3/1 | i MU junbo >>>>>>> | ntertace connected towards to
N7k2 with MIU 1500

MIU 1500 bytes, BW 10000000 Kbit, DLY 10 usec

50 junbo packets >>>>>>> Exact 50 junmbo packets are egress in the TX

ENexus-sw2 A O EEMNER A

Nexus- Sw2# sh interface et3/1 | i MIUl giant >>>>>>> | nterface connected towards
Nexus-Swl with e3/1 MIuU 1500

MIU 1500 bytes, BW 10000000 Kbit, DLY 10 usec

0 runts 50 giants 0 CRC/FCS 0 no buffer >>>>>>> Exact 50 input error and 50 G ants
packets observed in the RX counter.

50 input error 0 short frame O overrun O underrun O ignored

Nexus- Sw2# sh interface et3/4 | i MU giant]|error >>>>>>> | nterface with MU 1500
MIU 1500 bytes, BW 10000000 Kbit, DLY 10 usec
O runts 0 giants 0 CRC/FCS 0 no buffer >>>>>>> No counter seen

0 output error O collision O deferred O late collision >>>>>>> No counter seen
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